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SinA + cosA cosA —sinA
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@ cosy = cosz

® siny =sinz
@ cosz =BD

@ tanx =tanz

3 tanx = CE
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AB 9 g7
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16. o= 4% T &4 &2A27 (F,0°<A<90°)
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18. t©hS 129 AABC oA

@D 6.82

AF7}

(Af2tulol #)
z sin = cos T tan z
43° | 0.6820 0.7314 0.9325
44° | 0.6947 0.7193 0.9657
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
? 6.947 3 7.071 @ 7.193

3 7.314
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. H

@O0A ©OB ®OC ®®OD @ AB
®AD ®BC ©CD

@ sinx = AB cosx = OD tanx = OA
@ sinx = AB cosx = OA tanx = AB
® sinx = CD cosx = OD tanx = AB
@ sinx = CD cosx = OA tanx = OB

® sinx=BC cosx = OC tanx = AB



Sk A

26. x=230°2t1 & 0, sinx, cosx, tanx 2] HAE v AL?

@ sinx < cosx < tan x @ cosx < tanx < sinx

@ sinx < tanx < cos x @ sinx < cosx = tanx

B tan x = sin x < cos x
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<Z7A O>sinx = 0.2588
<Z7A @>tany = 0.3640

2 AOl(sin) | AFQ!(cos)| EHAI E (tan)
14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
17° 0.2924 0.9563 0.3057
18° 0.3090 0.9511 0.3249
19° 0.3256 0.9455 0.3443
20° 0.3420 0.9397 0.3640
21° 0.3584 0.9336 0.3839

1) 928° ® 30° B 392° @ 35° B 40°
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ol Yo YA sH= AABC oA LA =
60°, /B = 45° & wj, AB 9] Zo]
=7

DO V2+V3 @ V2+ V6
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35. T2 AZH9 BE HIl tan15° X cos43° X tan75° + cos75° X
1

—— xtan15° ¢] & F-stofzt,
sin 15
T sinz COST tanz
15° 0.2588 0.9659 0.2679

43 0.6820 0.7314 0.9325




36.

t}S I8 A AABC 9] Yo]E 15l
a2},

D 24+4+V3 @ 24 +843

® 48+ 43 @ 48 + 83

G) 48 + 16V3

8
{
|

\

B



37. e 19w 2ol AW RRE 10m old] Ik 71 7E F A
A, B oA 2aitt 2 7hm7t 217} 50%, 55° 2 o, ok A7

ol-g3ste] F A4 A, B Atole] A E?

Zte sin cos tan
35 0.5736 0.8192 0.7002
40 0,6428 0.7660 0.8391

D 7.002m @ 8.192m ® 14.088m

@ 15.393m G 15.852m
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